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® Find minimum number of straight lines 1n figure?

® SAThId H el TQTSAT shi =AATH HEAT HTel i 502




* The District Transort Authority has started special bus serives for college going
students. One bust starts from village P. the number of girl in the bus 1s one-
fourth of the number of boys. In village Q, 20 boys leave the bus at their
colloege stop and ten girls enter the bus. Now the number of boys and girls 1s
equal. How many students enter the in the beginning?

o TSI TiE STTEeRLoT = et ST alTed TorITrT o foTg, forY 5@ HaTd, 31 hi
Ueh BTt el P ¥ Y& Bl 81 o H TS [l ohl ST TTSshi ohl ST shl Th-<I1HTS
21 T Q H, 20 TSk 3TYH hiciST LU W 99 DTS od & N 38 TISihdl o9 H T3
LAl 8] 3T TTgeh I ASIRAT shl HEAT SIS 3| JESHTA H {ohel DT ToIT hid &7

A.50
B. 40

/‘ \ | C.30
| D. 60




* Select the number from among the given options that can replace the question

mark (?) in the following series.

o [QU T foshedl H § 3H TE&AT b1 T ohd I HHTTRId et § 9 g (?) i
gfcreerfud o gehd] 2

* 71,56, 44, 35, 29, ?




* Four numbers have been given, out of which three are alike in some manner

and one 1s different. Select the number that 1s different.

* IR EEITE 1 1S 2, o e 9 i forelt Iehr @ ues STt @ 37 Uk 3= 21 39 He

= S ST T R




* Select the option that is related to the third word in the same way as the second

word 1s related to the first word.

o 3 foohcd T I3 L ST 1o Toc 9 3T TohK GafYd & S8 TH 313 Ject Ilec O
Geferd 2|

® Flock : Sheep : : Crowd : ?

A. Fly
B. Fish
C. Human

D. Swans




* Select the correct option that indicates the arrangement of the given words 1n the

order in which they appear in an English dictionary.

* 3 Tel forehed b Tl ST QU 1T STeaT <hl STET hl 3§ hH H 3110 adT & ISTeH o
JUSIT STeaehier O fo@ms aa @

® 1. Inhaler

A.4,3,1,5,2
B.45,2,1,3

C.4,1,3,5,2
* 4. Ingenuous D. 4,3,5,1,2

® 5. Inheritance

® 2. Inimitable

® 3. Inhabitant
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* Four options have been given, out which three are alike in some manner and one is
different. Select the option that 1s different.

* IR Ty few u 8, o8 8 19 Toret Tor & @919 8 3T Ueh T4 B 39 fashed AT <=H
S ST o= 2

A. Indonesia
B. Bangladesh
C. Singhpore
D. Shri1 Lanka
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* In a certain code language, EXTREME is writen as VCGIVNV. How will INITIAL
be written in that language?

[MT25d 3¢ 91T H EXTREME i VCGIVNV Tef@T ST 81 36 WIS H INITIAL ¥

A.RMSHRZP
B. SNRGSAO
C.RMRGRZO
D.SMSGSZP
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* Select the option 1n which the words share the same relationship as that shared by the

given pair of words.

AN N

* 34 faeoncT o1 <= o IS YTee T2 GeieT HTEIT hid @ S ST ITU Tec o SIS g1 HTE]

ERIRIDIES

®* Mosquito : Swarm

A. Shark : school
B. Cat : murder

C. Monkey : Pride
D. Snake : Slither




® Ruchi’s husband’s grandfather 1s Abhinav, whose grandson’s father is Viyan. If

Abhinav and his wife have only one son, how is viyan related to ruchi’s husband?

o Bf< & afd kT arer STfyaa 2, fSreeh qia w1 fuar form 21 afe stfyma 3t sueh ucdt &
hI Ueh &I T &, QI ToT &l o i & foher JehT Eiferd 27

A.Cousin

B. Brother-in-law
C. Father
D.Uncle




® Statement:

* Some dogs are bulls./$® ghr\l SOk

* All Bulls are donkeys./&@4T ERRIDES
® Conlusions:

*I. All dogs are donkeys./&@4T @'%]TQT%I

°Il. Some donkesy are dogs./$s m}gﬁ%




* Four letter-clusters have been given, out of which three are alike in some manner

and one 1s different. Select the leeter-cluster that 1s different.

* TR JUI-8E faU MU E,
T hL ST AT B

SCLECIE

fSRET T § Teh SIE @ 31T Ueh fa7=T 2] et Fet®el 1
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* Studay the given pattern carefully and select the number that can replace the questn
mark (?) 1n it.

* {aU TTT Y =T SATYSIoh T hl IR I8 HEAT T <A h{ SIT FGH FHaT=Ioh T<I& (?) i
JTceTiud o Tohl

*13 50 O8 \

\&)




* A cube 1s made by folding the given sheet. IN the cube so formed, What be the B
symbol on the opposite side of “S”?

o &1 118 I SRl IS Ueh O JMIT SITAT &1 §9 bR a4 O H, “S” &

S ER RV




®* Find the next term?

® ITTAT US T hi?

®28, 15, 7, 4775, ?




®* Find the next term?

® ITTAT US T hi?

® 1598, 798,398, 198, ? ,48




* Find number of squares 1n figure?

® JThId H ST hl HE&AT 1A hllS1T2

NN

AN




